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1. 9RA @ o SN Seary el o foaior 1.  India has been divided into how many

fopar T 8 ? agroclimatic zones ?
(A) 10 (A) 10

(B) 12 B) 12

(© 15 ©) 15

(D) 8 D) 8

2. R &F qABIG B JGURVT P fhaw 2. Concept of Leaf Area Index (LAI) was

foay ? given by :

(A) AP (A) Blackman
(B) drcHd (B) Watson

© I (C) Gregory

(D) T9. UH. 94 (D) S.S.Bains

3. Bl YW &F ATHUM FIF Hel Red 3. Central Arid Zone Research Institute is

39 situated at :
(A) SR (A) Jaipur
(B) @MY (B) Kanpur
(C) YIS (C) Lucknow
(D) SR (D) Jodhpur

4. AN YSY H EALASRELR g3 D HE&T © 4.  The number of agroclimatic zones in
Uttar Pradesh is :

(A) 3 (A) 3
B) 5 (B) 5
€ 2 (C) 2
(D) 6 (D) 6

AGRON-5001 (3) Set-A



5. WRd 3 & WE B © |
(A) IREH
(B) @
(C) St
(D) wRdl

6. iy T B forg G AT Ry T

qrel HIUGUS T -

(A) T &3 gadid (LA
(B) ®Ud gfg X (CGR)
(C) W& 3§ T (RGR)
(D) Suda Wl

7. BN H Herd 4RAE SEE &1 gferd

foar & ?

(A) 80
(B) 60
(C) 40
(D) 70

8. DM-Ul W e AD @I I § ?

(A) IR
(B) fia
(C) ToRI

(D) IR

AGRON-5001

(4)

Staple food crop of India is :
(A) Soybean

(B) Rice

(C) Barley

(D) Mustard

The most common parameters used in
growth analysis are :

(A) Leaf Area Index (LAI)

(B) Crop Growth Rate (CGR)

(C) Relative Growth Rate (RGR)

(D) All of the above

What is the percentage of Indian

population engaged in agriculture ?

(A) 80
(B) 60
(C) 40
(D) 70

Which crop is most drought tolerant ?
(A) Maize
(B) Sesamum

(C) Pearl millet

(D) Sorghum

Set-A



10.

11.

12.

NG Tl @I AARIDhdl $T AMGS (odl
T

SHET g

e R

T4, T, 99 g

(A)
(B)
(©)
(D)

IRAM 3R W8S g

T, T 3R, & {1 M &

(A) I TR e

(B) IfeT TR YT

(C) i U e

(D) e UHiiffeier R

U6 o[ 9 @ 3@ H AW @
URRARIIT &1 INT FEaA &

(A) HrH

(B) Sietdry

(C) duf

(D) drgHvsd

g & I U TN P AT TG YA
fepar ST arer T €

(A) TR

(B) EESITH

(C) oriT®

(D) RMIR

AGRON-5001
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10.

11.

12.

Criteria of nutrient essentiality was given
by :
(A)
(B)
(©)
(D)

Thompson
Stanley
S. S. Bennet

Arnon and Stout

Full name of NAR is :

(A) Net Assimilation Rate
(B)
(®)

(D)

Negative Assimilation Rate
Net Area Rate

Net Assimilation Ratio

The aggregate of weather conditions over

a long period of time is called :

(A) Weather
(B)
©)

(D)

Climate
Rainfall

Atmosphere

An instrument used in the measurement

of force and velocity of wind is :

(A) Anemometer
(B)
(©)

(D)

Hydrograph
Thermograph

Barometer

Set-A



13.

14.

15.

‘TIHAMY Ieg T AT 3 forr T ® °? 13.

A e
(B) uifed
(C)
(D) A

CGR & 93 ¢ : 14,

WZ_Wl

LYy

(A) cGRr =

(B) cGr = -

Leaf area
(C) cocr =

Ground area

(D) SWYad # | BIg T2

Rd 4 G 60 UioRd aiffe awl yra 15,

Bl §

(A) IR-Yd AR &R
(B) Td-UReM AR &I
(C) SIET-ul¥ed A g

(D) STR-TIET HGT gRI

AGRON-5001 (6)

‘Agronomy’ word is derived from which

language ?

(A) Greek

(B) Latin

(C) Spanish

(D) Roman

Formula of CGR is :

(A) CGR = u
Loy
(B) CGR = Q
LYy
Leaf area
(C) cGr =

Ground area

(D) None of the above

In India, 60 per cent of total annual

rainfall is received by :

(A) North-East Monsoon
(B) East-West Monsoon
(C) South-West Monsoon

(D) North-South Monsoon

Set-A



16. ‘YahH U ATSEIN g fear 16. ‘Inverse yield nitrogen law’ was given by :

o -
(A) dIcHT gr (A) Watson
(B) fdedidd g™ (B) Wilcox
(C) SR ER (C) Reddison
(D) Sy, Tdl. qTcd §RI (D) W. L. Ballas

17. f=folReg 5 9 o9 ‘ReEfas RIKKIE] 17. Which one is the equation of

‘Mitscherlich’s  Law of Diminishing

yfowet o &1 93 8 ?
Return’ ?
dy _ dy _
(A) —=((;-Y)cC (A —=(;-Y)cC
dx dx
(B) (A_Y)de—y (B) (A‘Y)de—y
dx dx
© K- v-ayc (C) - v - ayc
dy dy
(D) SUYd H § I el (D) None of the above
18. ‘919 !If%l_c" RO <f o : 18. The concept of ‘Baule Unit’ is given by :
(A) TF. U9, 99l A (A) H.H.Baule
(B) gIS dSal o (B) Bernhard Baule
(C) IfeC FrSd A (C) Robert Brown
(D) e aF o (D) Antoni Von

AGRON-5001 (7) Set-A



19. ®F-91 AUES Ufd 3HT% T g @l 19.  Which parameter indicates rate of growth

af @ P AT Pxar & ? per unit dry matter ?
(A) RGR (A) RGR
(B) NAR (B) NAR
(C) LAD (C) LAD
(D) CGR (D) CGR
20. ‘Hls‘c}ﬁﬁl?r[’ A YIRT fhar oI & 20. ‘Cycocel’ is mainly used as a :
(A) |YTERT ded & wU | (A) Dormancy breaker
(B) WUl ® fRT | U & w9 H (B) Lodging preventer
(C) el @I Udell XA & ®U A (C)  Fruit thinner
(D) U @ PIRTGRIT @ 96 & for (D) Plant cell enlarger
21, 3yeel Urey Ufowy &l rauRenm 3 T © 21. The concept of plant ideotypes is given
by :
(A) SIS N (A) Donald
(B) drcHd grI (B) Watson
(C) Il TH &RI (C) Jethro Tull

(D) ST gRT

22. TR IS MAPTe BT G T

S U
X
(A) srrfefe SUS 100
eFifefd 3UW
(B) ————*100
EERCLE
5% ugref
X
(C) srrfefer SUW 100

(D) SWad # | BIS T

AGRON-5001

(8)

22.

(D) Johnson

Formula of harvest index is :

Biological yield

(A) x 100
Economic yield

(B) Economic yield % 100
Biological yield

(C) Dry matter % 100

Economic yield

(D) None of the above

Set-A



23.

24,

25.

AT €
(A) c, U
(B) c, U®Em

CAM Tl
Syged F4l

(©)

(D)

B Ie g dRe g A g
g7

(A) TUHA

(B) IR fafewor

T Bl SYTrdT

SUgad |4l

(©)
(D)
o & B9 a1 § W feT | 98 @ §
AR I & T G I © ?

(A) CAM T ¥

(B) c, UMl ¥
(C) c, UmiH

(D) SUYa H A Bl 7l

AGRON-5001

(9)

23.

24,

25.

Maize is :

(A) c, plant

(B) c, plant

(C) CAM plant

(D) All of the above

Crop production is limited by which
factor ?

(A) Temperature

(B) Solar radiation

(C) Water availability

(D) All of the above

In which category of plants the stomata

remain closed during day and open in

night ?

(A) CAM plants

(B)

C, plants

(©)

c, plants

(D) None of the above

Set-A



26. fo=foRad & 9 @=-d7 yfhar digi § 26 Which of the following processes is

I ﬂ'ﬂ's& & w0 8 o) o 2o known as necessary evil in plants ?
(A) GIIERUI (A) Evaporation
(B) EIIRiSE] (B) Transpiration
(C) UPRRITTOr (C) Photosynthesis
(D) %944 (D) Respiration
27.  DIF-GT ARG UNG dcd el & 2 27. Which is not an essential plant nutrient ?
(A) BIHRY (A) Phosphorus
(B) URr™ (B) Potassium
(C) wfeam (C) Sodium
0) fi® (D) Zinc

28. fH=foRgd & ¥ SH-A1 Agolldl oo 28.  Which one of the following is symbiotic

Repiad Gﬁ_‘””l 39 nitrogen fixing bacteria ?
(A) ard (A) Algae

(B) UaICIdaeR (B) Azotobacter
(QIEENICRE (C) Rhizobium

(D) Tuild (D) Azolla

AGRON-5001 (10) Set-A



29.

30.

31.

32.

AGRON-5001

GRTT o forg 99T | forar Tar 2 2

(A e

(B) N

(C) S

(D) wifed

Fretfead % & B &0 W1e @) B
g7

(A) el

(B) HUE

(C) =

(D) St

RIS el & |1 e < Bl Ped B

(A) BERRA

(B) WeHIeH

©) feerssem

(D) SWad # | BIg T2

750 fell. & @¥ aIffie aui arel e #
Wl B Pl FE ¢

(A TP &
(B) IuREfiF @
) Rifod @t
(D) SWad # | BIS T

(11)

29.

30.

31.

32.

‘Cereal’ word is derived from which
language ?

(A) Greek

(B) Roman

(C) Japanese

(D) Latin

Which one of the following is a green

manure crop ?

(A) Linseed
(B) Cotton
(C) Dhaincha
(D) Barley

Application of fertilizers with irrigation

water is called :
(A) Herbigation
(B) Fertigation
(C) Dehydration

(D) None of the above

Cultivation of crops in areas where
annual rainfall is less than 750 mm is

called :

(A) Dry farming

(B) Rainfed farming
(C) lIrrigated farming

(D) None of the above

Set-A



33.

34.

35.

AGRON-5001

T GOd & 91 R Sudl uIe
PR B W Wl HEd S W g,
ECAVICIRCICI R

(A) g

(B) offmafieT ®iu

(C) #F B

(D) Rt @

RA H AR @1 3iNTa qrafy g

(A) 100-120 fd
(B) 60-90 &7
(C) 50-80 fa71

(D) 150-180 fad

fy=folRed & 4 o9 WY UNH o

YeR & 3aYq Tel § ?
(A) RIS SRE
(B) WI-IRF

(C) Y 39

(D) MG

(12)

33.

34.

35.

Raising a crop for supplement yield with

main crop is known as :

(A) Intercrop
(B) Augmenting crop
(C) Main crop

(D) Relay crop

The duration of monsoon in India extends

for an average period of :

(A) 100-120 days

(B) 60-90 days

(C) 50-80 days

(D) 150-180 days

Which one is not a component of

Integrated Nutrient Management ?

(A) Chemical fertilizers

(B) Biofertilizers

(C) Crop residues

(D) Herbicide

Set-A



36.

37.

38.

39.

AGRON-5001

1S ARIRT 5 Tl IR § 7 36.

(A) T
(B) 3IN=HN
(C) ®UN™

(D) didet

URYE Wl F T 39 & - 37.

(A) TR GG
(B) SN 378, UW.
(C) Wil 91 T4,
(D) SR

B UG Ud AT ¢ 38.

(A) I RIEH &1
(B) I Tl @l

) Riford @ @

(D) SWa ¥ ¥ I3 T

wiarer &l @1 e v § 39.

(A) TIGfde Al Bl HRET
(B) Yol Wy H FER
(C) WY WE

(D) ST W

(13)

Brown manuring is related to which

crop ?

(A) Wheat
(B) Arhar
(C) Cotton

(D) Rice

The major component of precision

farming is :
(A) Remote Sensing
(B) G.IS.

(C) G.P.S.

(D) All of the above

Cropping system is a component of :
(A) Farming system

(B) Dry farming

(C) Irrigated farming

(D) None of the above

Main goal of organic farming is :

(A) Conservation of natural resources
(B) Improving soil health

(C) Healthy food

(D) All of the above

Set-A



40.

41.

42.

43.

AGRON-5001

feeTe BN 1 37ayq @ :

(A) INM
(B) IPM
(C) WM

(D) SWa &l

AR fAfHROT 3 A0 & fog Wy Ul
g

(A) TR

(B) TR

(C) RS

(D) STda # & Big AL

-URSHR BT T/ Ie¥d HIA-9T 8 7
(A) TRUGIR =07

(B) N T IR AT

(C) 9T TG oTcT AReTor

(D) SHIE W

i & e a% BT [ A B forg
3IeTH YN dcdl &l G © -

(A) 18
(B) 17
©) 19
(D) 21

(14)

40.

41.

42.

43.

Component of sustainable agriculture is :

(A) INM
(B) IPM
(C) WM

(D) All of the above

Instrument used for measuring solar
radiation is :

(A) Pyranometer

(B) Anemometer

(C) Barograph

(D) None of the above

Which is the main aim of tillage ?

(A) Weed control
(B) Seed bed preparation
(C) Soil and water conservation

(D) All of the above

The total number of plant nutrients
essential for plant to complete his life
cycleis:
(A) 18
(B) 17
(C) 19
(D) 21

Set-A



44,

45,

46.

47.

AGRON-5001

fy=forRad & & -1 oM UHHd
&R el SIaTY] el & ?

(A) VIl

(B) TeieERem

() R

(D) TSIICrddex

ol B glg @ forv gar @1 i T9n
HEATN ©

3 T[eTS ford BHel ¥ W § ?
A T

(B) T

(C) el

(D) Suga H A Bl el

fosft & # diel @ verfid e @ ey
Pl D & |

(A) WA TFd

(B) Wda ST

(C) W Yae

(D) W STEH

(15)

44,

45.

46.

47.

Which is not a nitrogen fixing bacteria ?

(A) Rhizobium
(B) Azospirillum
(C) Bacillus

(D) Azotobacter

The physical condition of soil related to

plant growth is known as :

(A) Tillage

(B) Ploughing

(C) Tilth

(D) Sowing

Blind hoeing is related to which crop ?

(A) Wheat
(B) Chickpea
(C) Sunflower

(D) None of the above

The arrangement of the plants in an area
is called :

(A) Crop density

(B) Crop geometry

(C) Crop management

(D) Crop production

Set-A



48. ofiffaTT @1 AT B e gWId © ¢ 48. Liebig’s ‘law of minimum’ is related to :

(A) U UER | (A) Plant nutrition
(B) WRUTAR J§eH o (B) Weed management
(C) VHIIHTA A (C) Photosynthesis
(D) TS o (D) Transpiration
49. HRR’ v forg Wror & form war € 7 49. “Manure’ word is derived from which
language ?
(A e (A) Greek
(B) difed (B) Latin
(C) (C) Roman
(D) %4 (D) French
50. ol T fobw T W Ay o B ? 50. Soil moisture is measured by which
instrument ?
(A) TTHMER (A) Anemometer
(B) <RIMIeR (B) Tensiometer
(C) MR (C) Barometer
(D) oMM (D) Thermometer
51. fyfaRed & & a-0 def @ gfg @ 51 Which of the following is not a phase of
e X, growth in plant ?
(A) T4 gfg smawer (A) Lag phase
(B) e gl arawar (B) Log phase
(C) YwTawe (C) Flowering phase
(D) ReR arawen (D) Plateau

AGRON-5001 (16) Set-A



52. Bl @I 9§ U9 faer B gHiad e 52. The factor affecting growth and

el PRSP & development of crop is :

(A) YdrI (A) Light

(B) dYshH (B) Temperature

(C) dTgAvSN ATadl (C) Atmospheric humidity
(D) SWF &l (D) All of the above

53. SFOIRE WMSId BIdT & g aj‘ﬁ 53. Intercropping is beneficial when land

R ST Sl equivalent ratio is :

(A) LERT® A &4 (A) LER<1

(B) LERTU® ¥ fd® (B) LER>1

(C) LERTU® & &I (C) LER=1

(D) Suga H A Bl el (D) None of the above

54. f=fRad § 9§ NPOP &1 dI9-4T q_T 9 54.  Which one of the following is full form

37 of NPOP ?

(A) TIFA YU BR ARTHSG I (A) National Programme for Organic
Farming

(B) Hcad Uroide 3 Qi wIfdT (B) Network Project on Organic
Farming

(C) < UM 3 UredRM (C) New Programme on Production

(D) SUYa H A Bl 7l (D) None of the above

AGRON-5001 (17) Set-A



55.

56.

S57.

AGRON-5001

ffoiad # & dI9-91 Ukl & fdera @1
qegic T g 7

(A) UTil IUTed SX-LPR

(B) U & gAdBIB-LAI

(C) YW 3 &I &R-FR

(D) dTell 39 @ R-PER

Rifgd ol 8 18 @ ey uE @
T E

(A) Ui, Bl vd AR & UfT FiRIE

(B) UdIY UG ITUhH & Gfa Ul

(C) uRwl TE-Tl BT

(D) Sudad wd

B YUell B YHIAd B drell oifdd
PRE T :

(A) STeary

(B) U

(C) Tgad
(D) R

(18)

55.

56.

57.

Which of the following is not an

evaluation of plants development ?

(A) Leaf Production Rate-LPR

(B) Leaf Area Index—LAl

(C) Rate of Flowering—FR

(D) Panicle Emergence Rate—-PER

Characteristics of wheat ideotypes for

irrigated condition is :

(A) Resistant to frost, insect and disease

(B) Photo and thermoinsensitive

(C) Erectophile canopy

(D) All of the above

The biological factors affecting the

farming system is :

(A) Climate

(B) Temperature

(C) Livestock

(D) Topography

Set-A



58. fyforRed # & fd Sem @ emfy 58 Which of the following enterprises can be

TRRE @3 % T foar o integrated in wetland ecosystem ?
g ?

(A) 909 Yl (A) Duckery

(B) #Bcil e (B) Fisheries

(C) <Ml (A) &R (B) (C) Both (A) and (B)

(D) TEDIC U (D) Sericulture

59. Wfdd Wdl & I § fo=falRed § @ 59. Which of the following statements is true

PIF-GT PYT G © ? about organic farming ?

(A) Tz Elz‘fﬁ U Pl NEK] H BEIN (A) It improves quality of farm
Rl 2| produce.
(B) UMV A ¥ $Ig GUR el Il @ | (B) No improvement in nutritive value.
(C) TT WReT o™ Pl HH Bl 2 | (C) It reduces health benefit.
(D) SUgdd FHI (D) All of the above
60. MYFTd BN B FARI T : 60. Problem of modern agriculture is :
(A) 3INH WG @I & (A) Damage to ozone layer
(B) Hal famrR (B) Soil degradation
(C) o Pl Bers (C) Denudation of forest
(D) SUgad JHI (D) All of the above

AGRON-5001 (19) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A I BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok qdl Heger
B o ST T ST START BRAT afoid ¢ |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
a,
j
8
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